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1i. ' Describe the mechanism and purpose of feedback inhibition in a metabolic pathway. 

1\ ' What are the two stages of photosynthesis? What are the key products of each stage? 

-l:: ' Explain how species'names follow a binominal nomenclature. Give an example. 

i\.. ' Let's suppose a gene mutation changed the sixth codon from one that specifies lysine to a 

stop codon. How would this mutation affect transcription? How would it affect translation? 

it. ' What are the key features of DNA that allow it to be replicated? How does the replication 

process affect the ability of DNA to store information? 

+ ' Explain how restriction enzymes and DNA ligase are used to insert a gene into a plasmid . 
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